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1.
(A) (R)

A

R

[a] A R R,A 

[b] A R R,A 

[c] A R 
[d] A R 

Sol. [A]
3000 

4000 

2.
1. 2.
3. 4.

/

[a] 1 2 [b] 2, 3 4
[c] [d] 1 4

Sol.[B]

3. /

1.

2.

3.

[a] 1 [b] 2
[c] 2 3 [d] 3

Sol. [B]

1. Given below are two statements, one labeled
as Assertion (A) and the other labeled as
Reason (R).
Assertion A: High montane vegetation  found
in the Eastern Himalayas is as higher altitude
than in the Western Himalayas.
Reason R: The Eastern Himalayas receive
more monsoon rainfall than the Western
Himalayas.
Which one is correct in the context of the
above two statements?
[a] Both A and R are correct and R is the

correct explanation of A.
[b] Both A and R are correct but R is not the

correct explanation of A.
[c] A is correct, but R is incorrect.
[d] A is incorrect but R is correct.

Sol. [A]
The high mountain vegetation is found up to
a height of 3000 meters in the Western
Himalayas and up to 4000 meters in the Eastern
Himalayas. The reason for this diversity is the
high monsoon rainfall in the Eastern
Himalayas.Tropical vegetation to Alpine
vegetation is found on Himalayas depending
on the altitude.

2. Consider the following hills-
1. Nagari 2. Velikonda
3. Nallamala 4. Eramala
Which of the above hills  are situated between
the rivers Krishna and Peneru?
[a] 1 and 2 only [b] 2, 3 and 4 only
[c] All of the above [d] 1 and 4 only

Sol.[B]
Hills situated in Andhra Pradesh between
Krishna and Peneru rivers – Eramala Hills,
Nallamala Hills and Velikonda Hills.

3. Select the incorrect statement/statements from
the following-
1. The Dandakaranya plateau is called

Kalahandi plateau in Odisha.
2. The plateau of Bundelkhand divides the

drainage system of Mahanadi and Son
rivers.

3. The highest peak of Chhotanagpur plateau
is Parasnath, which is called Sammed
Shikhar.

[a] 1 only [b] 2 only
[c] 2 and 3 only [d] 3 only

Sol. [B]
Dandakaranya Plateau:- It is mainly located
in Chhattisgarh and Odisha and partially in
Andhra Pradesh and Telangana. In Odisha it
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M.P. 

4. A: 

R:

[a] A R R,A 
[b] A R R,A 

[c] A R 
[d] A R 

Sol. [C]

5.

A. 1.
B. 2.
C. 3.
D. 4.

A B C D A B C D
[a] 1 3 4 2 [b] 3 1 4 2
[c] 3 2 1 4 [d] 2 3 1 4

Sol. [B]
1.
2.
3.
4.
5.

6. 1.

2.

3.

is called Kalahandi Plateau and in
Chhattisgarh it is called Bastar Plateau.
Baghelkhand Plateau (M.P. Chhattisgarh) It
divides the drainage system of Son and
Mahanadi.
Chhota Nagpur Plateau:- It is mainly located
in Jharkhand and adjacent states of Bihar,
Chhattisgarh, Odisha, Bengal. Its highest peak
is Parasnath. It is called Samed Shikhar by jain
community.

4. Assertion A: The harbors could not be more
developed in the eastern coastal region than
in the western coastal region.
Reason R: The width of the continental shelf
is more in the western coastal part.
[a] Both A and R are correct and R is the

correct explanation of A.
[b] Both A and R are correct but R is not the

correct explanation of A.
[c] A is correct but R is incorrect.
[d] A is incorrect but R is correct.

Sol. [C]
The width of the continental shelf in the east
coast is greater than that in the west coast.
Due to which there was not much development
of harbors shelters here. The rivers draining
into the Bay of Bengal form long deltas with
sediments, which also have a raised east coast.

5. Match the following-
Doab  Areas

A. Bari 1. Between Chenab and Jhelum
B. Chaj 2. Between Beas and Sutlej
C. Rachna 3. Between beas and Ravi
D. Bist 4. Between Ravi and Chenab
Code:

A B C D A B C D
[a] 1 3 4 2 [b] 3 1 4 2
[c] 3 2 1 4 [d] 2 3 1 4

Sol. [B]
1. Bist Doab : Between Beas-Sutlej
2. Bari : Between Beas-Ravi
3. Rachna : between Ravi-Chenab
4. Chaj :between Chenab and Jhelum
5. Sindh Sagar Doab : Between Jhelum-

Chenab and Indus.
6. 1. The western slope of the Western Ghats

receives more rainfall than the western
coastal part.

2. Trade winds cross the equator and change
into south-west monsoon winds.

3. In the northern regions of the Western
Ghats, there is a huge difference in the
amount of rainfall between the windward



Page 4 of 47

/

[a] 1 [b] 2 3
[c] [d] 1 2

Sol. [D]

7. 1

2 

/

[a] 1 [b] 1 2 
[c] 1, 2 [d] 2

Sol. [A]

ITCZ  

8.

1.

2.
3.

/
[a] 1 2 [b]
[c] 2 [d] 1 3

Sol. [B]

and windward slopes as compared to the
southern regions.

Choose the correct statements from the above
statements-
[a] 1 only [b] 2 and 3 only
[c] All of the above [d] 1 and 2 only

Sol. [D]
The slopes of the Western Ghats by the
Arabian Sea branch receive more rainfall than
the western coastal part. The extension of the
rain shadow regions is related to the height
of the mountains. In the northern parts of the
Western Ghats, there is not much difference
in the amount of rainfall between the leeward
and leeward slopes, whereas in the southern
parts there is a great difference.

7. Statement 1: Break of monsoon occurs when
the frequency of tropical depressions decreases.
Statement 2: Retreating Monsoon begins when
a low pressure develops over northwest India
in winter.
From the above statements, select the correct
statements using the code-
[a] 1 only [b] Both 1 and 2
[c] Neither 1 nor 2 [d] 2 only

Sol. [A]
Break of Monsoon :- Long dry spell in the
rainy season is called monsoon break.
Reasons for failure of monsoon: - Reduction
in the frequency of tropical depressions,
inversion of temperature when the direction
of steam-laden winds is parallel to the Western
Ghats.
Retreating of Monsoon:- Return of Monsoon,
due to southward movement of Sun,
development of high pressure in North-West
India in winter, shifting of ITCZ towards south,
return of sub-tropical westerly jet stream to
its place, establishment of north-east trade
winds. The retreating monsoon brings rain to
the eastern coastal parts.

8. Discuss the following statements regarding
monsoon-
1. Both the Arabian Sea branch and the Bay

of Bengal branch meet in Bihar.
2. Most of the rainfall of the Arabian Sea

branch occurs in India.
3. Most of the Bay of Bengal branch rains in

Thailand, Malaysia and Myanmar.
Select the correct statement(s)-
[a] 1 and 2 only [b] All of the Above
[c] 2 only [d] 1 and 3 only

Sol. [B]
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9. A

R

 
[a] A R R,A 

[b] A A R,A 

[c] A R 
[d] A R 

Sol. [A]

(1141
c.m.)

10. 1.

2.
3.

/

[a] 1 [b] 2
[c] 1 2 [d] 3

Sol. [A]

1050 K.M. 

11.

A. 1.
B. 2.
C. 3.
D. 4.

5.

A B C D A B C D
[a] 5 4 3 1 [b] 4 1 2 3
[c] 4 1 3 2 [d] 3 4 2 5

9. Assertion A: The place receiving the highest
average annual rainfall in the world is located
in Meghalaya.
Reason R: Garo, Khasi, Jaintia hills are spread
in a Monsoon Windward funnel shape.
Select the correct answer from the codes given
below-
[a] Both A and R are correct and R is the

correct explanation of A.
[b] Both A and R are correct but R is not the

correct explanation of A.
[c] A is correct, but R is incorrect.
[d] A is incorrect but R is correct.

Sol. [A]
The Garo, Khasi, Jaintia hills of Meghalaya are
wide in the shape of the monsoon winds, in
which the branch of the Bay of Bengal collides
and rains. Mawsynram, situated in the Khasi
Hills, is the place with the highest average
rainfall (1141 c.m.) in the world.

10. 1. The Bhander plateau is situated in the
western part of the Bharner hills.

2. The Vindhyachal range is a block mountain
made of limestone.

3. The highest altitude of Satpura range is
found in Mahadev hills.

Choose the incorrect statement/from the
above statements-
[a] 1 only [b] 2 only
[c] 1 and 2 only [d] 3 only

Sol. [A]

The Vindhyachal range is spread over a
distance of 1050 km from south-west to north-
east.

The Bhander plateau is situated in the eastern
part of the Bharner hills of the Vindhyachal
range.

It is a block mountain made of limestone.

The highest altitude of Satpura is in Dhupgarh
near Pachmarhi of Mahadev hills.

11. Match the following-
Peaks State

A. Jindagada 1. Maharashtra
B. Deomali 2. Tamil Nadu
C. Kudremukh 3. Karnataka
D. Salher 4. Odisha

5. Andhra Pradesh
Code:

A B C D A B C D
[a] 5 4 3 1 [b] 4 1 2 3
[c] 4 1 3 2 [d] 3 4 2 5
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Sol. [A]

(1) (2)
(3) (4)

12.

1. 2.
3. 4.
[a] 1, 4, 3, 2 [b] 1, 2, 3, 4
[c] 3, 1, 4, 2 [d] 3, 4, 1, 2

Sol. [C]

13. 1.

2.

3.

/

[a] 1 2 [b] 2 3
[c] [d] 1

Sol. [B]

1.

2.

3. 600 

14. 1.

2.

3.

/

Sol. [A]
Peaks and states: - (1) Jindagadha (Andhra
Pradesh) (2) Deomali (Odisha) (3) Kudremukh
(Karnataka) (4) Salher (Maharashtra).

12. Select the correct sequence of the following
hills from the code given below, moving from
south to north:
1. Dafla Hills 2. Mishmi Hills
3. Mikir Hills 4. Miri Hills
[a] 1, 4, 3, 2 [b] 1, 2, 3, 4
[c] 3, 1, 4, 2 [d] 3, 4, 1, 2

Sol. [c]
Correct order from South to North:- Mikir
(Assam), Dafla, Miri, Mishmi (Arunachal
Pradesh)

13. 1. The Telangana-Andhra Plateau is divided
by the Godavari River into the Telangana
Plateau and the Rayalaseema Plateau.

2. The general slope of the Deccan Plateau is
from west to east.

3. The Tungabhadra River flows over the
Bangalore Plateau.

Observing the above statements, select the
correct statements using the codes given below-
[a] 1 and 2 only [b] 2 and 3 only
[c] All of the Above [d] 1 only

Sol. [B]
The Deccan Plateau is mainly located in a
triangular shape in Maharashtra, Andhra
Pradesh, Telangana and Karnataka.
Three regional parts:-
1. Maharashtra Plateau- Krishna, Godavari

rivers. Cotton cultivation is more due to
black soil.

2. Telangana - Andhra Plateau - Krishna River
divides it into Telangana Plateau and
Rayalaseema Plateau. Its eastern part is
called Seemandhra.

3. Karnataka Plateau- 600 meter contour line
divides it into two parts, Bangalore Plateau
and Mysore Plateau. The Tungabhadra
flows over the Bangalore Plateau and the
Kaveri River over the Mysore Plateau . Its
western hilly part is called Malnad and
eastern flat part is called plain.

14. 1. The Vindhyachal and Satpura ranges meet
at the Chhotanagpur plateau.

2. In the western part of the Chota Nagpur
Plateau, the Pat hills with flat summits are
situated.

3. The Koderma Plateau is situated to the
north of the Damodar River.

Select the incorrect statement from the above
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[a] 1 2 [b] 2 3
[c] 3 [d] 1

Sol. [D]

 

/

15. I II 

I II

A. 1.
B. 2.
C. 3.

D. 4.

A B C D A B C D
[a] 1 2 4 3 [b] 1 3 2 4
[c] 3 2 1 4 [d] 3 4 2 1

Sol. [D]

(HP)

16.
[a] [b]
[c] [d]

Sol. [D]

17.
[a]
[b]
[c]
[d]

statements using the codes given below-
[a] 1 and 2 only [b] 2 and 3 only
[c] 3 only [d] 1 only

Sol. [D]

The Vindhyachal and Satpura ranges meet on
the Baghelkhand plateau region. Chota
Nagpur Plateau – Damodar River divides it
into two parts. Koderma plateau and
Hazaribagh plateau are situated in the north
and Ranchi plateau in the south. In its western
part, there are high land hills with flat
summits, which are called Pat in the local
language.

15. Match List-I with List-II and select the correct
answer from the code given below-

List-I List-II
(Mountain passes) (Connects)
A. Rohtang Pass 1. Leh-Lahaul Spiti
B. Shipkila Pass 2. Uttarakhand-Tibet
C. Thang La Pass 3. Kullu Valley- Lahaul

spiti
D. Bara Lacha Pass 4. Himachal Pradesh-

Tibet
Code:

A B C D A B C D
[a] 1 2 4 3 [b] 1 3 2 4
[c] 3 2 1 4 [d] 3 4 2 1

Sol. [D]

Bara Lacha Pass - Leh-Lahaul Spiti

Shipkila Pass - Himachal Pradesh-Tibet

Thang La Pass - Uttarakhand-Tibet

Rohtang Pass - Kullu Valley- Lahaul spiti

16. Kangto and Pauhunri mountain peaks are
located in-
[a] Gujarat [b] Northern Sahyadri
[c] Satpura range [d] Assam Himalaya

Sol. [D]

Assam Himalaya: Regional division of the
Himalayas, which lies between the Teesta and
the Dihang River. Its highest peak - Namcha
Barwa (China). Other peaks - Kangto
(Arunachal Pradesh-China border) and
Pauhunri (Sikkim-China border)

17. Malwa plain is situated Between-
[a] Ghaggar and Sutlej rivers
[b] Chambal and Betwa rivers
[c] Beas and Yamuna rivers
[d] Betwa and Ken rivers
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Sol. [A]

18. 1 : 

2 : 

/

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [A]

19.
[a]
[b]
[c]
[d]

Sol. [C]

20. 1: 

2: 

Sol. [A]

Malwa Plain: It is situated between Sutlej and
Ghaggar rivers in Punjab.

18. Statement 1 : Cyclones brought from the
Mediterranean Sea by sub-tropical westerly jet
winds cause rainfall in North-Western India.
Statement 2 : Due to the low pressure
conditions during April-May in northern
India, the southern branch of jet winds causes
heavy rainfall.
Choose the correct statements from the above
statements-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [A]

In winter, the southern branch of the
subtropical westerly jet stream flows into the
northern plains, leading to high pressure
conditions. Therefore, due to the depression
of the air, there is no rain during the winter
season. While passing through the
Mediterranean Sea, this jet stream brings with
it small cyclones, which cause rainfall (mavath)
in North-West India. With the arrival of
summer, the jet stream starts to shift slightly
northwards. Despite the low pressure
conditions during April and May, India does
not receive rainfall as the influence of the
southern branch of the jet stream still prevails
over India.

19. The phenomena of El-Nino and La Nina occur
in-
[a] In the western part of the South Pacific Ocean
[b] In the western part of the North Pacific Ocean
[c] In the eastern part of the South Pacific

Ocean
[d] South Atlantic Ocean

Sol. [C]

El-Nino and La Nina: The higher than average
temperature of the ocean water near the coast
of Peru in the eastern part of the South Pacific
Ocean is called El Nino phenomenon. which
has a negative impact on the Indian monsoon.
When ocean water temperatures near the coast
of Peru are below average, it is called as La
Nina phenomenon. It has a positive effect on
the Indian monsoon.

20. Statement 1: The dust storms of the deserts
of West Asia have a positive effect on the
Indian monsoon.
Statement 2: The presence of aerosols from
industries in the atmosphere reduces the
intensity of the Indian monsoon.
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[a] 1 2 
[b] 1 2 
[c] [d]

Sol. [C]

21.

[a] [b]
[c] [d]

Sol. [D]

22.

A. 1.
B. 2.
C. 3.
D. 4.

A B C D A B C D
[a] 1 2 3 4 [b] 3 2 4 1
[c] 2 3 1 4 [d] 2 1 4 3

Sol. [C]

23.

[a] [b]
[c] [d]

Sol. [D]
 

Code-
[a] 1 is correct, 2 is incorrect
[b] 1 is incorrect, 2 is correct
[c] Both are correct
[d] Both are incorrect

Sol. [C]
The dust storms of the deserts of West Asia
rise up due to the strong winds and this dust
gets heated by absorbing solar radiation in the
upper atmosphere, due to which a heat pump
is formed over the Arabian Sea. The
atmosphere gets warmer, which increases
evaporation. More evaporation leads to the
formation of more clouds. These dust particles
also act as moisture absorbing centers in the
atmosphere. Thus, dust storms increase the
intensity of the Indian monsoon. Aerosols
(solid particles suspended in the atmosphere)
emanating from industrial units have a
negative impact on the Indian monsoon.

21. Which of the following plains are formed by
the sediments of rivers originating from the
Mandav hills :-
[a] Mithila plains [b] Gujarat plains
[c] Kutch plains [d] Kathiawadi plains

Sol. [D]

The Kathiawar plains have been formed by
the sediments of rivers originating from the
Mandav hills of the Kathiawar peninsula of
Gujarat. It is a narrow and fertile plain.

22. Match correctly-
Lake State

A. Kanjali Lake 1. Tripura
B. Deepor Lake 2. Punjab
C. Rudrasagar Lake 3. Assam
D. Gohna Lake 4. Uttarakhand
Code:

A B C D A B C D
[a] 1 2 3 4 [b] 3 2 4 1
[c] 2 3 1 4 [d] 2 1 4 3

Sol. [C]
Kanjali Lake (Punjab), Deepor Lake (Assam),
Rudrasagar Lake (Tripura), Gohna (Durmi)
Lake (Uttarakhand)

23. Which of the following lakes is situated in
the northern most-
[a] Songmo Lake [b] Powai Lake
[c] Renuka Lake [d] Tso Morari Lake

Sol. [D]
Powai Lake (Maharashtra), Songpo Lake (Sikkim),
Renuka Lake (Himachal Pradesh) Tso Morari Lake
(Ladakh)
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24.
1.
2.

3.

/
[a] 1 2 [b] 2 3
[c] [d] 1 3

Sol. [D]

 

25.

[a]
[b]
[c]
[d]

Sol. [D]

1. 2. 
3. 

4. 

26.
/

1. 2.
3. 4.
5.

[a] 1, 2 4 [b]
[c] 2, 3 4 [d] 3, 4 5

Sol. [D]

24. Examine the following statements-
1. The floating islands in the Loktak lake are

called phumdis.
2. Kolleru Lake is a brackish water lake

located in Andhra Pradesh.
3. The Adyar river originates from the

Chembarambakkam lake.
Choose the correct statement-
[a] 1 and 2 only [b] 2 and 3 only
[c] All of the above [d] 1 and 3 only

Sol. [D]
Loktak Lake- Manipur. Its floating islands are
called phumdis in the local language. Keibul
Lamjao National Park is situated on a these
phumdis. Kolleru lake: Fresh water lake
locaked between krishna-Godawari delta in
andhra pradesh.

25. Which of the following pair (Lake and State)
is mismatched :-
[a] Sasthamkota Lake- Kerala
[b] Surinsar Lake – Jammu and Kashmir
[c] Sarsai Navat Lake - Uttar Pradesh
[d] Thol Lake - Maharashtra

Sol. [D]
1. Sastham Kota Lake – Kerala, 2. Surinsar and
Man Sagar Lakes of Jammu and Kashmir are
called twin lakes. 3. Sarsai Navar Lake – Uttar
Pradesh 4. Thol Lake is located in Gujarat. All
these lakes are included in the list of Ramsar
sites.

26. Which of the following rivers are the right
bank tributaries of the Brahmaputra river?
1. Dibang 2. Disang
3. Kameng 4. Subansiri
5. Teesta
Code:
[a] 1, 2 and 4 only [b] All of the above
[c] 2, 3 and 4 only [d] 3, 4 and 5 only

Sol. [D]
Tributaries of Brahmaputra:-
Right Bank:- Kameng, Bhareli, Sunkos, Teesta,
Jaldhaka, Raidak, Bar River, Manas, Subansiri,
Kaljani.
Left bank river- Disang, Dibang, Dikhou,
Lohit, Kapili, Dhansiri.
Brahmaputra River: Originates from
Chemayung dung/Angsi/Yarlung Glaciers
(Tibet). Empties into the Bay of Bengal.
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27. Which is the correct sequence of Mahanadi,
Krishna, Kaveri and Narmada in descending
order of length of rivers?
[a] Mahanadi, Narmada, Krishna, Kaveri
[b] Krishna, Narmada, Mahanadi, Kaveri
[c] Mahanadi, Krishna, Kaveri, Narmada
[d] Krishna, Kaveri, Mahanadi, Narmada

Sol. [B]
Length of rivers:- Krishna river (1400 K.m.),
Narmada river (1312 K.m.), Mahanadi (858
K.m.), Kaveri (800 K.m.)

28. Consider the following rivers-
1. Gomti 2. Ghaghra
3. Kosi 4. Gandak
Which of the following originates from
outside India:-
[a] 1 and 3 only [b] 2 and 4 only
[c] 1, 2 and 3 only [d] 2, 3 and 4 only

Sol. [D]

River Origin

1. Gomti : Gomat Tal, Pilibhit
District-(Uttar Pradesh)

2. Ghaghra : Mapcha Chungo Glacier
(Tibet)

3.  Kosi : It is formed by the meeting
of various streams from the
Tibet Plateau.

4. Gandak : Tibet near Nepal border.
29. 1. Tapi river originating from a place called

Multai flows in the rift valley and Surat
city is situated at its mouth.

2. The Damodar River flows in the rift valley
and finally joins the Hooghly River.

3. Subarnarekha river originating from the
plateau of Ranchi joins Mahanadi.

Choose the correct statements from the above
statements-
[a] 1 and 2 only [b] All of the Above
[c] 1 and 3 only [d] 2 only

Sol. [A]
Tapi River: Origin- Multai, Betul district
(Madhya Pradesh).
Flowing in the rift valley between the Satpura
and Vindhyachal ranges, it falls into the Gulf
of Khambhat. The city of Surat is situated on
its  mouth.
Damodar River: - Origin - Chhota Nagpur
Plateau (Jharkhand). flows into the rift valley.
joins the Hooghly River. It is called the
Sorrow of Bengal. Tributary - Barakar.

27.

[a]
[b]
[c]
[d]

Sol. [B]

(1400 K.m.),
(1312 K.m.) (858 K.m.) (800

K.M.)
28.

1. 2.
3. 4.

[a] 1 3 [b] 2 4
[c] 1, 2 3 [d] 2, 3 4

Sol. [D]

  

1. 

2.

3.

4.

29. 1.

2.

3.

/

[a] 1 2 [b]
[c] 1 3 [d] 2

Sol. [A]
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30.

[a] [b]
[c] [d]

Sol. [A]
(ICAR-IARI)

31.

1.
2. 210 

3.

/
[a] 1 [b] 2
[c] [d] 1 3

Sol. [C]
/

200C-300C, 50-100Cm,
210 

32.

[a]
[b]
[c]

[d]

Sol. [C]

250 - 300C, 200 Cm. 

50% 

Swarnrekha River: Origin- Ranchi Plateau
(Jharkhand). Forms Hundru waterfall.
Jamshedpur is situated on this river. It falls
into the Bay of Bengal near Balasore.

30. An improved variety of which crop named
Pusa Bekar has been developed by the Indian
Agricultural Research Institute?
[a] Wheat [b] Maize
[c] Rice [d] Barley

Sol. [A]
A new variety of wheat called Pusa Bekar  has
been developed by the Indian Agricultural
Research Institute (ICAR-IARI) for biscuits,
which confirms to the standards set by
European countries.

31. Consider the following statements regarding
cotton crop-
1. It is a Kharif crop.
2. 210 days frost and hail free period, clear

sky, strong shining sunlight is essential.
3. The maximum production of cotton is in

the black soil area made of lava in the
peninsular India.

Select the correct statement(s)
[a] 1 only [b] 2 only
[c] All of the Above [d] 1 and 3 only

Sol. [C]
Cotton - Indian cotton - short fibres/staple
American Cotton - Long Staple
Temperature - 200C-300C Rainfall -50-100Cm.
210 days Clear sky without frost and hail,
strong and bright sunshine are necessary.
The highest production of cotton in India is
in the black soil region of the Peninsular
Plateau.

32. Choose the incorrect statement from the
following with reference to tea:-
[a] Assam ranks first in tea production in the

country.
[b] Waterlogging in its roots is harmful.
[c] Its green leaves are fermented and black

leaves are non-fermented
[d] Tamil Nadu is the largest tea producing

state in South India.
Sol. [C]

Tea: Temperature - 250 - 300 C. Rainfall - 200
Cm. Well drained slope, but  waterlogging in
the roots is harmful. In Assam, about 50% of
the country’s production. Highest production
in Tamil Nadu in South India. Black leaves
are fermented and green leaves are non-fer-
mented.
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33.
[a] [b]
[c] [d]

Sol. [D]

1.

2.

34. 1.

2.

/
[a] 1 [b] 1 2 
[c] 1, 2 [d] 2

Sol. [A]

2020-21

2020-21

35.

[a] [b]
[c] [d]

Sol. [D]

        

 

36.

[a]

33. Which of the following is a non-metallic
mineral:-
[a] Iron [b] Manganese
[c] Bauxite [d] Mica

Sol. [D]
1. Metallic Minerals – Manganese, Nickel,

Chromium, Cobalt, Iron Ore, Copper, Lead,
Zinc, Tin, Gold, Bauxite.

2. Non-metallic minerals – mica, asbestos, pyrite,
gypsum, marble, limestone, diamond.

34. 1. Bauxite is produced from Bolangir,
Sundargarh and Rayagada in Odisha.

2. The maximum production of bauxite is in
Odisha, while the maximum storage is in
Andhra Pradesh.

Choose the correct statements from the above
statements-
[a] 1 only [b] Both 1 and 2
[c] Neither 1 nor 2 [d] 2 only

Sol. [A]
Bauxite:- It is an ore of aluminium.
Year 2020-21 Maximum reserve:-
Odisha, Chattisgarh, Andhra Pradesh.
Year 2020-21 Maximum production:-
Odisha, Gujarat, Jharkhand
Therefore, Odisha is the largest reserve and
producing state of bauxite.
Production areas in Odisha – Koraput,
Kalahandi, Bolangir, Sambhalgarh,
Sundergarh, Rayagada.

35. Which of the following is a non-conventional
and non-renewable resource of energy?
[a] Hydroelectric energy [b] Tidal energy
[c] Geothermal energy [d] Shale gas

Sol. [D]

        

 

36. Select the mismatched pair-
Industrial Major Industrial
Center Region
[a] Punalur - Kollam-Thiruvananthapuram

Industrial Region
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[b]
[c]
[d]

Sol. [C]

37.
1.

2.

3.

[a] 1 [b] 2 3
[c] 3 [d] 2

Sol. [A]

(BHEL)

38.

A. 1.
B. 2.
C. 3.

4.

A B C A B C
[a] 1 2 4 [b] 2 4 3
[c] 2 1 3 [d] 1 3 2

Sol. [C]

1.

2.

(TN)

3.

[b] Belur - Hooghly Industrial Region
[c] Valsad - Chhotanagpur region
[d] Vijayanagar - Visakhapatnam Guntur

Industrial Region
Sol. [C]

Valsad is the major industrial center of Gujarat
industrial region.

37. Discuss the following statements-
1. The world’s largest floating solar project

is being set up on the Godavari river.
2. India is the first country in Asia to build a

solar pond.
3. India’s largest solar diesel hybrid plant has

been set up in Lakshadweep.
Select the incorrect statement from the code-
[a] 1 only [b] 2 and 3 only
[c] 3 only [d] 2 only

Sol. [A]
The world’s largest floating solar project
Omkareshwar Dam (Khandwa, Madhya
Pradesh) is being set up on the Narmada
River.
India is the first country in Asia to build a
solar pond. (Bhuj, Gujarat.)
India’s largest Solar Diesel Hybrid Plant has
been set up by BHEL at Bangaram Islands in
Lakshadweep.

38. Match the following correctly :-
Energy Resource Related Sites
A. Biomass 1. Wankuswade
B. Wind energy 2. Jhalkhari
C. Geothermal Energy 3. Tatapani

4. Rewa
Code:

A B C A B C
[a] 1 2 4 [b] 2 4 3
[c] 2 1 3 [d] 1 3 2

Sol. [C]
1. Biomass:- Jhalkhari (Punjab), Timarpur

(Delhi), Mumbai Highest potential:-
Maharashtra, Uttar Pradesh, Karnataka.

2. Wind Energy:- Vankuswade, Brahmanvel,
Dalgaon (Maharashtra), Muppandal (Janjha),
Jaisalmer (Rajasthan), Mandvi (Gujarat) etc.

3. Geothermal Energy - Puga Valley,
Chumthang (Ladakh), Tatapani
(Chhattisgarh), Surajkund (Jharkhand),
Manikaran (H.P.), Khammam (Telangana),
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(H.P.)
(GJ)

39.
1. 2.
3. 4.

[a] 1 2 [b] 2 3
[c] 4 [d] 3 4

Sol. [A]

1. 2.

3. 4. 5. 

6. 7. 

8.
40.

[a] NH 2, NH 8, NH 19, NH 35
[b] NH 8, NH 4, NH 17,
[c] NH 46, NH 48, NH 53
[d] NH 16, NH 19, NH 48

Sol. [D]
5846 km 13 

NH 19- NH 16- 
NH 48 

41.

1.
2. 3717 K.M. 13  

3. 44 
/

[a] 1 [b] 1 3
[c] 2 3 [d] 3

Sol. [A]
3717 Km. NH

13 /

42. 1. 27 

Rajgir (Bihar), Tapoban (Uttarakhand), Sohna
(Haryana), Cambay (Gujarat)

39. Consider the following regions:-
1. Indore-Dewas-Ujjain
2. Guwahati-Shillong
3. Hooghly Region
4. Kollam-Thiruvananthapuram
Which of the above is not included in the
major industrial regions of India?
[a] 1 and 2 only [b] 2 and 3 only
[c] 4 only [d] 3 and 4 only

Sol.[A]
Major industrial regions of India:-
1. Gurugram-Delhi-Meerut 2. Gujarat Region
3. Mumbai-Pune, 4. Chhota Nagpur Region,
5. Hooghly Region
6. Visakhapatnam-Guntur 7. Bengaluru-Tamil

Nadu,
8. Kollam - Thiruvananthapuram.

40. Which highways consist of  the Golden
Quadrilateral?
[a] NH 2, NH 8, NH 19, NH 35
[b] NH 8, NH 4, NH 17,
[c] NH 46, NH 48, NH 53
[d] NH 16, NH 19, NH 48

Sol. [D]
Golden Quadrilateral:- 5846 km length, passes
through 13 states.
Connects Delhi- Kolkata-Chennai-Mumbai.
NH 19:  Delhi - Kolkata, NH16: Kolkata -
Chennai,
NH 48: Chennai - Mumbai - Delhi.

41. Examine the following statements regarding
the North-South Corridor-
1. It passes through Kota district of

Rajasthan.
2. It is a 3717-kilometer long corridor, which

passes through 13 states and union
territories.

3. Only National Highway No. 44 covers it.
Incorrect Statement from above is/are
[a]  1 only [b] 1 and 3 only
[c]  2 and 3 only [d] 3 only

Sol. [A]
North-South Corridor-3717 km. Only National
Highway No. 44 covers it
13 states/UT - Jammu-Kashmir, Himachal
Pradesh, Punjab, Haryana, Delhi, Rajasthan,
Uttar Pradesh, Karnataka and Tamil Nadu. It
passes through Dholpur in Rajasthan.

42. 1. National Highway No. 27 connects the
north-eastern Indian states with the rest
of India.
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2. 27 35 

3.
/

[a] 1 2 [b] 2 3
[c] 1 3 [d] 1

Sol. [C]
27 

NH27

43.

1. 2.
3. 4.
5.

[a] 1 2 [b] 1 3
[c] 3, 4 5 [d] 3

Sol. [D]

1. 2. 3. 4. 
5. 6. 7. 

44. I

II

[a] I 
[b] II 
[c]
[d]

Sol. [B]

45.

A. 1.
B. 2.
C. 3.

2. National Highway No. 27 and 35 cover
both the East-West corridor.

3. The East-West Corridor extends to the
state of Assam in the east.

Choose the correct statements from the above
statements-
[a] 1 and 2 only [b] 2 and 3 only
[c] 1 and 3 only [d] 1 only

Sol. [C]
National Highway No. 27 - Porbandar
(Gujarat) to Silchar (Assam).
NH 27 covers the entire East-West corridor
entirely. It connects the north-eastern states
(Seven Sisters) to the rest of India. Silchar,
the easternmost point of the North-West
Corridor, is located in Assam.

43. The East-West Corridor passes through
which of the following North-Eastern States
(Seven Sisters).
1. Meghalaya 2. Tripura
3. Assam 4. Arunachal Pradesh
5. Manipur
Code:
[a] 1 and 2 only [b] 1 and 3 only
[c] 3, 4 and 5 only [d] 3 only

Sol. [D]
The East-West corridor passes through seven
states:- 1. Gujarat 2. Rajasthan 3. Madhya
Pradesh 4. Uttar Pradesh 5. Bihar 6. West
Bengal 7. Assam.

44. Statement I. The Godavari River originates
from the Brahmagiri hills.
Statement II: Mahabaleshwar is the peak
of northern Sahyadri, from where the river
Krishna originates.
Code :
[a] Only statement I is correct.
[b] Only statement II is correct.
[c] Both the statements are correct.
[d] Both the statements are wrong.

Sol. [B]
Godavari river originates from Kalsubai, the
highest peak of northern Sahyadri and
Krishna river from another peak
Mahabaleshwar. The river Kaveri originates
from the Brahmagiri hills.

45. Match the following and select the correct
answer from the code given below.

Rivers     Confluence
A. Dhauliganga-Alaknanda 1. Karnprayag
B. Alaknanda-Mandakini   2. Vishnu Prayag
C. Pindar-Alaknanda    3. Rudraprayag
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D. 4.

A B C D A B C D
[a] 3 2 4 1 [b] 2 3 1 4
[c] 2 1 4 3 [d] 3 1 2 4

Sol. [B]

1. -
2. -
3. -
4. -

46.

[a] [b]
[c] [d]

Sol. [C]

70% 

47.

[a]
[b]
[c]
[d]

Sol. [C]

2020-21

48.

[a] [b]
[c] [d]

Sol. [C]

1. 2. 3. 4. 5.
6. 

2020-21 

1. 2. 3. 

D. Bhagirathi-Alaknanda    4. Devprayag
Code:

A B C D A B C D
[a] 3 2 4 1 [b] 2 3 1 4
[c] 2 1 4 3 [d] 3 1 2 4

Sol. [B]
Rivers Confluence
1. Dhauliganga-Alaknanda - Karnprayag
2. Alaknanda-Mandakini - Vishnu Prayag
3. Pindar-Alaknanda - Rudraprayag
4. Bhagirathi-Alaknanda - Devprayag

46. The producer district of magnetite iron ore is:-
[a] Keonjhar-Mayurbhanj
[b] Singhbhum - Bastar
[c] Salem- Kozhikode [d] Ratnagiri-Balaghat

Sol. [C]
Magnetite Iron Ore: - Iron content - more than 70%,
black colour. Production Areas:- Kudremukh,
Chikmagalu (Karnataka), Kozhikode (Kerala), Sa-
lem (Tamil Nadu), Nizamabad, Karimnagar
(Telangana), Cuddapah-Nellore (Andhra
Pradesh)

47. Among the following, the correct descending order
of the highest manganese producing states is:-
[a] Odisha, Madhya Pradesh, Karnataka,

Maharashtra
[b] Odisha,Karnataka, Maharashtra, Andhra

Pradesh
[c] Madhya Pradesh, Maharashtra, Odisha,

Karnataka
[d] Karnataka, Odisha, Andhra Pradesh, Madhya

Pradesh
Sol. [C]

Year 2020-21 Maximum production-
Madhya Pradesh, Maharashtra, Odisha,
Karnataka, Andhra Pradesh.
Maximum reserves - Odisha, Karnataka, Madhya
Pradesh, Maharashtra, Goa, Andhra Pradesh,
Jharkhand.
Most productive value- Maharashtra, Madhya
Pradesh, Odisha, Karnataka, Andhra Pradesh.

48. Which of the following states, has the
maximum reserves of mica resources?
[a] Bihar [b] Jharkhand
[c] Rajasthan [d] Odisha

Sol. [C]
Mica:- Maximum storage:-
1. Andhra Pradesh 2. Rajasthan 3. Odisha 4.
Maharashtra 5. Bihar, 6. Jharkhand.
Year 2020-21 Maximum production:-
1. Rajasthan  2. Andhra Pradesh 3. Jharkhand
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49. I II 

I II

A. 1.
B. 2.
C. 3.
D. 4.

5.

A B C D A B C D
[a] 2 3 4 5 [b] 4 1 2 5
[c] 4 3 2 1 [d] 2 5 3 4

Sol. [B]

1. 2.
3. 4.

50.

[a] [b]
[c] [d]

Sol. [D]
13 /

1 2. 3. 4. 
5. 6.     7. 8. 9.

10.    11. 12. 
13. 

51.
[a] [b]
[c] [d]

Sol. [D]
1. 2. 3. 

52.

A. 1.  BPCL
B. 2. CPCL
C. 3. IOCL

D. 4. HPCL

A B C D A B C D
[a] 2 1 3 4 [b] 2 4 3 1
[c] 1 3 4 2 [d] 1 2 3 4

Sol. [C]

49. Match List-I with List-II and select the
correct answer from the codes given below
the Lists-

List-I List-II
(Oil Refinery) (State)
A. Numaligarh 1. Andhra Pradesh
B. Tatipaka 2. Odisha
C. Paradip 3. Tamil Nadu
D. Mangalore 4. Assam

5. Karnataka
Code:

A B C D A B C D
[a] 2 3 4 5 [b] 4 1 2 5
[c] 4 3 2 1 [d] 2 5 3 4

Sol. [B]
Oil Refinery and State:-
1. Numaligarh (Assam)
2. Tatipaka (Andhra Pradesh)
3. Paradip (Odisha)
4. Mangalore (Karnataka)

50. The North-South Corridor of India does not
pass through which of the following states:-
[a] Himachal Pradesh [b] Telangana
[c] Haryana [d] Uttarakhand

Sol. [D]
The North-South Corridor passes through 13
states/UTs of India:-
1. Jammu and Kashmir 2. Himachal Pradesh, 3.
Punjab, 4. Haryana, 5. Delhi, 6. Rajasthan, 7. Uttar
Pradesh 8. Madhya Pradesh, 9. Maharashtra, 10.
Telangana, 11. Andhra Pradesh, 12. Karnataka,
13. Tamil Nadu.

51. Which state is the largest producer of coffee
in India?
[a] Kerala [b] Tamil Nadu
[c] Assam [d] Karnataka

Sol. [D]
Highest producer:- 1. Karnataka 2. Kerala 3.
Tamil Nadu.

52. Match the following correctly-
Refinery Oil Company

A. Kochi Refinery 1.  BPCL
B. Baroni Refinery 2. CPCL
C. Visakhapattnam 3. IOCL

Refinery house
D. Narimanam Oil Refinery 4. HPCL
Code:

A B C D A B C D
[a] 2 1 3 4 [b] 2 4 3 1
[c] 1 3 4 2 [d] 1 2 3 4

Sol. [C]
Refinery Developer
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1. BPCL 

2. IOCL 

3. HPCL 

4. CPCL 

53.

[a] 51% [b] 49%
[c] 26% [d] 25%

Sol. [D]

I. 49% II. 26% 3. 25%
54.

[a]
[b]
[c]
[d]

Sol. [B]

55.

1. 2.
3. 4.
5.

[a] 1 2 [b] 3 4
[c] 2, 4 5 [d] 1, 3 5

Sol. [D]

1. 
2. 3. 4. 5. 6. 7. IR8

1. 2. 3. 
4. 

1. Kochi, Kerala BPCL(Bharat
Petroleum Corporation
Limited)

2. Baroni, Bihar IOCL (Indian Oil
Corporation Limited)

3. Visakhapatnam, HPCL(Hindustan
Andhra Pradesh Petroleum Corporation

Limited)
4. Narimanam, Tamil CPCL (Chennai

Nadu Petroleum Corporation
Limited)

53. What is the contribution of power plants
operated by central government in the total
electricity production of India:-
[a] 51% [b] 49%
[c] 26% [d] 25%

Sol. [D]
Share in the total produced electrical energy
in India:-
I. Private Sector - 49% II. State - 26% III.
Center- 25%

54. Which industrial region is known for heavy
engineering industries of the country:-
[a] Visakhapatnam-Gutur Industrial Area
[b] Bengaluru Tamil Nadu Industrial Region
[c] Chhota Nagpur Pradesh
[d] Hooghly Industrial Region

Sol. [B]
Bengaluru - Tamil Nadu Industrial Region: -
Silicon Valley of India:- Bangalore. Heavy
engineering industries developed.
Major Industries:- Automobile, Aircraft
(Hindustan Aeronautics Limited)
Telephone, Electronics (Bharat Electronics).
Chhotanagpur industrial region is famous for
heavy metal industries.

55. Consider the following high yielding
varieties of crops in India-
1. Krishna 2. Arjun
3. Padma 4. Girija
5. Chalk
Which of the above are varieties of rice?
[a] 1 and 2 only [b] 3 and 4 only
[c] 2, 4 and 5 only [d] 1, 3 and 5 only

Sol. [D]
Improved Varieties of Rice - 1. Jaya (first
dwarf variety) 2. Krishna 3. Chaak 4. Jamuna,
5. Ratna 6. Padma 7. IR8
Improved Varieties of Wheat:- 1. Girija 2.
Arjun 3. Malvia 4. Sonalika.
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56.

[a] [b]
[c] [d]

Sol. [C]

5846 Km. 13 
1999 2012 

NH 19
NH-16

NH-48
57.

[a] [b]
[c] [d]

Sol. [C]

58.

A. 1.
B. 2.
C. 3.
D. 4.

5.

A B C D A B C D
[a] 2 3 5 1 [b] 2 5 1 3
[c] 4 2 5 1 [d] 4 5 1 2

Sol. [*]

59.
[a] [b]
[c] [d]

56. Which of the following city is located
outside the quadrilateral formed by the
Golden National Quadrilateral Highway:-
[a] Tirupati [b] Koraput
[c] Lucknow [d] Dungarpur

Sol. [C]

Golden Quadrilateral:- Length- 5846 Km
passes through 13 states. Construction work:-
Started in 1999 and completed in 2012.
Delhi-Kolkata- NH 19,
Kolkata-Chennai- NH-16,
Chennai-Mumbai-Delhi- NH-48

57. Which of the following river flows through
the Jawadi and Shevaroy hills:-
[a] Krishna River [b] Pennuru River
[c] Ponnaiyar River [d] Kaveri River

Sol. [C]
Javadi and Shevaroy hills are located in Tamil
Nadu. The Ponnayar river flows between
them. It falls in the Bay of Bengal.

58. Match the following manganese producing
regions with the respective states-

Region State
A. Jhabua 1. Karnataka
B. Ganjam 2. Odisha
C. Bhandara 3. Andhra Pradesh
D. Shimoga 4. Maharashtra

5. Madhya Pradesh
Code:

A B C D A B C D
[a] 2 3 5 1 [b] 2 5 1 3
[c] 4 2 5 1 [d] 4 5 1 2

Sol.[*]
Manganese producing areas of India:-
Odisha:- Sundergarh, Keonjhar, Sambalpur,
Ganjam, Koraput.
Jharkhand:- Singhbhum
Madhya Pradesh:- Jhabua, Chhindwara,
Balaghat, Jabalpur
Maharashtra:- Bhandara, Ratnagiri, Nagpur
Karnataka:- Shimoga, Bellary, Hospet
Andhra Pradesh:- Srikakulam, Visakhapatnam.
Rajasthan:- Dungarpur, Banswara.
Gujarat:-Banaskantha,Sabarkantha,
Panchmahal Goa.

59. How is considered as the father of the Indian
monsoon model-
[a] Ramaswami [b] P. Koteshwaram
[c] Ananth Krishnan [d] Vasant Gowariker

Sol. [D]
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Sol. [D]

60.

[a]
[b]
[c]
[d]

Sol. [B]
2245MW 

61.

1. -
2. -
3. -

[a] 1 [b] 1 3
[c] 1 2 [d] 2 3

Sol. [C]

1.

2.

3.

62.

A. 1. 
B. 2. 

C. 3. 
D. 4. 

5. 
A B C D A B C D

[a] 4 3 1 5 [b] 4 2 3 5
[c] 3 4 1 2 [d] 3 4 2 1

Sol. [D]

A. (USA) 

Vasant Gowariker was the first scientist to develop
an Indian model for monsoon forecasting.

60. Which of the following pair is not correctly
matched?

Solar Project State
[a] Kurnool - Andhra Pradesh
[b] Kamuthi - Kerala
[c] Bhadla - Rajasthan
[d] Pavagadh - Karnataka

Sol. [B]
Bhadla (Rajasthan) - 2245MW (India’s largest
solar plant)

61. The correctly matched pair among the
following is-

Mountain Country
1. Pennines - England
2. Southern Alps - New Zealand
3. Appalachian - Brazil
Code:
[a] 1 only [b] 1 and 3 only
[c] 1 and 2 only [d] 2 and 3 only

Sol. [C]
1. Pennines  - Located in England, the mountain

range located on the border of Spain and
France is known as the Pyrenees.

2. Southern Alps - Its highest peak is Mount Cook
located on the Southern Island of New
Zealand.

3. Appalachian- Located in North America. Many
mountains are included in this ancient folded
mountain group.
For example- Notre Dam Mountains, White
Mountains, Green Mountains, Blue Ridge
Mountains etc. Its highest peak is Mtchel.

62. Match the following pairs-
Mountain peak Country
A. Mount McKinley 1. Congo and Uganda

(Denali)
B. Citlaltepetl (Pico 2. Australia

de Orizaba)
C. Kosciuszko 3. United States of

America
D. Margherita 4. Mexico

5. Morocco
A B C D A B C D

[a] 4 3 1 5 [b] 4 2 3 5
[c] 3 4 1 2 [d] 3 4 2 1

Sol. [D]
A. Mount McKinley (Denali) - the highest peak

in North America (USA) which is located in
the Alaska range.

B. Citlaltepetl (Pico-de-Orizaba) - the highest
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B.

C.

D.

63.

1. 2.
3. 4.

[a] 1, 3, 4, 2 [b] 1, 4, 2, 3
[c] 4, 1, 2, 3 [d] 4, 3, 1, 2

Sol. [B]

1. - 8900 km
2. - 4800 km
3. - 3500 km
4. - 2500 km

64.

[a] [b]
[c] [d]

Sol. [B]

65.
-I -II 

A. 1.
B. 2.
C. 3.
D. 4.

5.
A B C D A B C D

[a] 2 4 1 5 [b] 2 4 1 3
[c] 2 3 1 5 [d] 4 2 3 1

Sol. [B]
1.

2.

peak in Mexico and the third highest peak in
North America

C. Kosciuszko Peak - Australia's highest peak
located in the Great Dividing Range

D. Margherita Peak - It is the third highest peak
in Africa in the Ruwenzori range, named after
Queen Margaretha of Italy.

63. Arrange the following mountain ranges of
the world in descending order of their length
and select the correct answer from the code
given below.
1. Andes 2. Great Dividing Range
3. Ural Mountains 4. Rocky
Code:
[a] 1, 3, 4, 2 [b] 1, 4, 2, 3
[c] 4, 1, 2, 3 [d] 4, 3, 1, 2

Sol. [B]
Mountain Length
1. Andes - 8900 km
2. Rocky - 4800 km
3. Great Dividing - 3500 km
4. Ural mountain range - 2500 km

64. Which of the following mountain range is
situated between the Black Sea and the
Caspian Sea?
[a] Alps Mountains
[b] Caucasus Mountains
[c] Cantabrian Mountains
[d] Balkan Mountains

Sol. [B]
The Caucasus Mountains are situated on the
inter-continental boundary between the Black
Sea and the Caspian Sea and also between
Europe and Asia. Europe's highest peak Elbrus
is situated in this mountain.

65. Match the following pairs-
List-I (Plateau) List-II (Continents)
A. Colorado Plateau 1. Europe
B. Patagonia Plateau 2. North America
C. Massif Central 3. Asia
D. Anatolian Plateau 4. South America

5. Africa
Code:

A B C D A B C D
[a] 2 4 1 5 [b] 2 4 1 3
[c] 2 3 1 5 [d] 4 2 3 1

Sol. [B]

1. Colorado Plateau - The Grand Canyon is
situated on this plateau made of limestone.

2. Patagonia Plateau – Located in Chile and
Argentina. Here the Patagonia desert is
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3.

4.

66.
1.

2.

3.

[a] 1 3 [b] 2 3
[c] 1 2 [d] 1, 2 3

Sol. [C]

67.

[a]
[b]
[c]
[d]

Sol. [A]

68.
I -II 

A. 1.
B. 2.
C. 3.
D. 4.

A B C D A B C D
[a] 4 1 2 3 [b] 4 1 3 2
[c] 1 2 3 4 [d] 1 2 4 3

Sol. [B]
A. USA 

B.

C.

located, which is a cold desert and the largest
desert of South America.

3. Massif Central - Plateau located in France (Iron
ore deposits)

4. Anatolia Plateau - Turkey's capital Ankara is
situated on it and it is also called Asia Minor.

66. Consider the following statements-
1. The Patagonia Plateau is located in Chile

and Argentina where the Patagonia desert
is located which is a cold desert.

2. The Potwar Plateau is situated to south of
the capital of Pakistan Islamabad and
between Indus and Jhelum River.

3. Ustyrut Plateau is situated in Kazakhstan,
Turkmenistan, Uzbekistan and
Afghanistan.

Select the correct statement/statements from
the above using the code.
[a] 1 and 3 only [b] 2 and 3 only
[c] 1 and 2 only [d] 1, 2 and 3

Sol. [C]
Ustyrut Plateau – This is a plateau located in
Kazakhstan, Turkmenistan, Uzbekistan.

67. Which of the following is not a correctly
matched pair?

Plateau City (capital)
[a] Anatolia Plateau - Tehran
[b] Potwar Plateau - Islamabad
[c] Jos Plateau - Abuja
[d] Meseta Central - Madrid

Sol. [A]
Anatolia Plateau - Turkey's capital Ankara is
located on it and it is also called Asia Minor.

68. Match the following--
List-I (Grasslands) List-II (Continents)
A. Prairies 1. South America
B. Pampas 2. Europe
C. Veld 3. Africa
D. Steppe 4. North America
Code:

A B C D A B C D
[a] 4 1 2 3 [b] 4 1 3 2
[c] 1 2 3 4 [d] 1 2 4 3

Sol. [B]
A. Prairies – Temperate grasslands in Canada and

USA.
B. Pampas - It is a temperate grassland which is

mainly located in Argentina, Brazil and
Uruguay.

C. Veld (Feld) - It is a temperate grassland located
in the eastern high plateaus of South Africa,
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D.

69.
1.

2.

3.

[a] 1 3 [b] 2 3
[c] 1, 2 3 [d] 1 2

Sol. [D]

70.

[a]
[b]
[c]
[d]

Sol. [C]

71.
-I -II 

A. 1.
B. 2.
C. 3.
D. 4.

5.

A B C D A B C D
[a] 3 4 1 2 [b] 3 1 4 2
[c] 3 1 5 2 [d] 3 5 1 2

Sol. [B]

which is useful for agriculture and animal
husbandry. Major river -vaal. Maize is the
main crop.

D. Steppe - It is a temperate grassland located in
Eurasia. Volga and Ural are the major rivers.

69. Consider the following statements-
1. Large cattle farms located in the prairies

are called ranches and are looked after by
cowboys.

2. The cattle farm of the Pampas grasslands
is called estancia and the caretakers are
called guacho.

3. The laborers who work at the sheep
rearing centers in the steppe grasslands are
called jacaru.

Choose the correct statement on the basis of
the above statements.
[a] 1 and 3 only [b] 2 and 3 only
[c] 1, 2 and 3 [d] 1 and 2 only

Sol. [D]
The Downs temperate grasslands are located
in the Murray Darling Basin of the Central
Plains region of Australia. The laborers working
at the sheep rearing centers are called Jacaru.

70. Which of the following is not a correctly
matched pair?
Grassland Type
[a] Veld –Temperate
[b] Plains of Manchuria –Temperate
[c] Parkland –Temperate
[d] Canterbury Plains –Temperate

Sol. [C]
Parkland grasslands are found in the tropical
region, its maximum extent is found in Africa
only. Apart from this, they are also found in
the Orinoco Basin of Colombia and Venezuela
and Brazil, Belize as well as in the southern
parts of India.

71. Match the following pairs-
List-I (Deserts) List-II (Countries)
A. Dasht-e-Kavir 1. Kazakhstan and

Uzbekistan
B. Kyzylkum 2. Sudan
C. Rub-al-Khali 3. Iran
D. Nubian desert 4. Saudi Arabia

5. Chile
Code:

A B C D A B C D
[a] 3 4 1 2 [b] 3 1 4 2
[c] 3 1 5 2 [d] 3 5 1 2

Sol. [B]
1. Dasht-e-Kabir- located in Iran
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1.
2.

3.

4.

72.

[a]
[b]
[c]
[d]

Sol. [B]

73.
1. 2.
3. 4.

[a] 2 [b] 1
[c] 1 2 [d] 3 4

Sol. [C]

74.

[a] [b]
[c] [d]

Sol. [C]

30º 60º 

75.

[a]
[b]
[c]
[d]

Sol. [C]

2. Kyzylkum - located in Kazakhstan and
Uzbekistan

3. Arab Al Khali - This is the world's largest Erg
desert located in Saudi Arabia.

4. Nubian Desert - Located in Sudan. The Nubian
Desert is known for the tortoises that pass
through it. It is the only habitat of the critically
endangered desert tree palm Medemia argan

72. Which of the following is not correctly
matched-

Desert Country
[a] Sonoran - United States of America
[b] Gibson - Brazil
[c] Karakum - Turkmenistan
[d] Atacama - Peru and Chile

Sol. [B]
The Gibson Desert is located in the middle of
the vast desert of Western Australia.

73. The Kalahari desert is situated in-
1. Botswana 2. Namibia
3. Zaire 4. Zambia
Select the correct answer from the codes given
below-
[a] 2 only [b] 1 only
[c] 1 and 2 [d] 3 and 4

Sol. [C]
Kalahari Desert – It is located in Botswana,
Namibia and South Africa. It is an Erg (sandy)
desert.

74. Which of the following is a temperate
desert?
[a] Atacama Desert [b] Kalahari Desert
[c] Patagonian Desert [d] Sahara Desert

Sol. [C]
Patagonian Desert – located in parts of
Argentina and Chile in the South American
continent.
Temperate deserts are found between 30° to
60° latitude. These include the Patagonian,
Gobi and Ladakh deserts.

75. The mismatched pair among the following is-
Desert Country

[a] Mojave Desert - United States of America
[b] Nafud - Saudi Arabia
[c] Simpson - Argentina
[d] Karakum - Turkmenistan

Sol. [C]
The Simpson Desert is located in Australia
while the Patagonian Desert is located in
Argentina and Chile.
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76.

[a]
[b]
[c]
[d]

Sol. [C]
   

 
77.

[a]
[b]
[c]
[d]

Sol. [C]

78.

[a] [b]
[c] [d]

Sol. [B]

79.

[a]

[b]

[c]

[d] 70 
6400 km. 

Sol. [C]

80.

76. Which of the following is the correctly
sequenced group of deserts on the basis of
their location from north to south?
[a] Taklamakan, Gobi, Kalahari, Namib
[b] Taklamakan, Gobi, Namib, Kalahari
[c] Gobi, Taklamakan, Namib, Kalahari
[d] Gobi, Namib, Taklamakan, Kalahari

Sol. [C]
Correct order from North to South- Gobi 
Taklamakan  Namib  Kalahari

77. Which of the following is the mismatched
pair?

River Continent
[a] Hudson - North America
[b] Limpopo - Africa
[c] Garonne - Asia
[d] Danube - Europe

Sol. [C]
Garonne River – located in Europe
- Cities of Bordeaux and Toulouse are

situated at its border.
- Bordeaux city is famous for wine and

Toulouse for aircraft manufacturing
Limpopo- River cuts the Tropic of Capricorn
twice.

78. Which of the following rivers forms the
border between the United States of America
and Mexico?
[a] Colorado [b] Rio Grande
[c] Columbia [d] Hudson

Sol. [B]
Rio Grande River - Origin - Rocky Mountains,
Joins - Gulf of Mexico, It forms the border
between United States of America and Mexico.

79. Which of the following is the incorrect
statement with reference to the Amazon River?
[a] It is the largest river in the world and the

second longest river in the world.
[b] The Selvas rainforests are situated in the

basin of this river.
[c] Temperate grasslands called Campos,

Cerrados, Catingas are also located in its
basin.

[d] Its catchment area is more than 70 lakh km
and its length is about 6400 km.

Sol. [C]
The tropical grasslands called Campos,
Cerrados, Catingas are located in the basin of
the Amazon River.

80. Which is the mismatched pair?
Main river Tributary

[a] Colombia - Snake



Page 27 of 47

[a]
[b]
[c]
[d]

Sol. [D]

81.

[a]
[b]
[c]
[d]

Sol. [D]

82.

[a]
[b]
[c]
[d]

Sol. [D]

83.
1.
2.
3.

[a] 1 3 [b] 2 3
[c] 1, 2 3 [d]

Sol. [C]
84.

[a]
[b]
[c]
[d]

Sol. [D]

85.

[b] Mississippi - Tennessee
[c] Orinoco - Caroni
[d] Hudson - Ohio

Sol. [D]
The Mohawk is a tributary of the Hudson River
while the Ohio is a tributary of the Mississippi-
Missouri River system.

81. The mismatched pair among the following
is-

River Capital
[a] Elbe - Prague
[b] Vistula - Warsaw
[c] Dnieper - Kyiv
[d] Tagus - Berlin

Sol. [D]
The capital of Portugal Lisbon is located on
the banks of river tagus. Germany's capital
Berlin is located on the banks of Spree river.

82. Which capital city is not located on the banks
of the Danube River?
[a] Bratislava (Slovakia)
[b] Budapest (Hungary)
[c] Belgrade (Serbia)
[d] Kiev (Ukraine)

Sol. [D]
Kiev (Ukraine) is situated on the banks of the
Dnieper River.
The fourth capital situated on the Danube
River is Vienna (Austria).

83. Consider the following statements-
1. Po River is the longest and main river of

Italy.
2. It is also called Ganga of Italy.
3. The plains of Lombardy are situated in its

basin area.
Choose the correct answer on the basis of the
above statements.
[a] 1 and 3 only [b] 2 and 3 only
[c] 1, 2 and 3 [d] None of the above

Sol. [C]
84. The mismatched pair is-

River Dam
[a] Nile - Aswan
[b] Zambezi - Kariba
[c] Orinoco - Guri
[d] Sao Francisco - Itaipu

Sol. [D]
The Itaipu Dam is located on the Paraná River
in the Brazilian border region.

85. Identify the mismatched pair-
Lake Country
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[a]
[b]
[c]
[d]

Sol. [D]
USA 

86.

1. 2.
3. 4.

[a] 4, 3, 2, 1 [b] 3, 2, 1, 4
[c] 4, 2, 1, 3 [d] 3, 1, 4, 2

Sol. [A]

82100 km2, 69484km2,
31500km2, 31153km2

87.
[a] [b]
[c] [d]

Sol. [C]
1.
2.

3.

4.

88.
1.

2.

3.

[a] 1 2 [b] 2 3

[a] Ladoga - Russia
[b] Toba - Indonesia
[c] Titicaca - Bolivia-Peru
[d] Ontario - Mexico

Sol. [D]
Ontario is one of the Great Lakes located on
the border area of Canada and USA.
The Welland Canal is located between Erie and
Ontario and the Niagara Falls between Lake
Erie and Ontario.

86. Arrange the following lakes in the correct
descending order areawise from the code
given below-
1. Great Bear 2. Baikal
3. Victoria 4. Superior
Code:
[a] 4, 3, 2, 1 [b] 3, 2, 1, 4
[c] 4, 2, 1, 3 [d] 3, 1, 4, 2

Sol. [A]
The descending order areawise-
Superior-82100 km2 Victoria-69484km2 ,Baikal-
31500km2, Great Bear-31153km2

87. Which of the following is a fresh water lake?
[a] Qinghai [b] Maracaibo
[c] Tanganyika [d] Assal

Sol. [C]

1. Qinghai - China's largest saline lake.
2. Maracaibo - The largest saline lake in South

America, oil deposits are found in this lake
area. The Tablajo Strait connects this lake to
the Gulf of Venezuela.

3. Tanganyika - This lake is situated in the
border area of Democratic Republic of Congo,
Tanzania, Burundi and Zambia. Located in the
rift valley. It is the longest, second deepest
and second oldest freshwater lake in the
world.

4. Asal- This is a saline lake located in Djibouti.
In which the lowest point of Africa is located.

88. Consider the following statements-
1. Titicaca Lake is located in the border area

of Peru and Bolivia.
2. Aral Sea Lake is situated in the border area

of Kazakhstan and Kyrgyzstan.
3. Dead Sea Lake is situated on the border

of Israel and Jordan.
Select the correct answer from the codes given
below-
[a] 1 and 2 [b] 2 and 3
[c] 1, 2 and 3 [d] 1 and 3
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[c] 1, 2 3 [d] 1 3
Sol. [D]

89.

A. 1.
B. 2.
C. 3.
D. 4.

5.
A B C D A B C D

[a] 3 1 2 5 [b] 3 1 2 4
[c] 3 1 4 5 [d] 1 3 5 4

Sol. [B]

90.

A. 1.
B. 2.
C. 3.
D. 4.

5.
A B C D A B C D

[a] 4 3 5 1 [b] 3 4 1 5
[c] 3 4 1 2 [d] 4 5 2 1

Sol. [C]
91.

A. 1.
B. 2.
C. 3.
D. 4.

A B C D A B C D
[a] 1 2 3 4 [b] 1 3 2 4
[c] 4 1 3 2 [d] 4 1 2 3

Sol. [D]
92.

1.

2.

3.

Sol. [D]
Aral Sea Lake is situated on the border area
of Kazakhstan and Uzbekistan. Syr Darya and
Amu Darya rivers fall into this lake.

89. Match the following-
Lake Country

A. Maracaibo 1. Djibouti
B. Assal 2. Sweden
C. Warner 3. Venezuela
D. Ladoga 4. Russia

5. Finland
Code:

A B C D A B C D

[a] 3 1 2 5 [b] 3 1 2 4
[c] 3 1 4 5 [d] 1 3 5 4

Sol. [B]
Lake Ladoga – The second largest freshwater
lake in Europe, located in Russia.

90. Match the following pairs-
Industrial region Country
A. Manchuria region 1.  France
B. Ural region 2. United Kingdom
C. Lyons region 3. China
D. West Midland region 4. Russia

5. Italy
Code:

A B C D A B C D

[a] 4 3 5 1 [b] 3 4 1 5
[c] 3 4 1 2 [d] 4 5 2 1

Sol. [C]
91. Match the following pairs-

City Industry
A. Anshan 1. Cigar
B. Havana 2. Automobiles
C. Detroit 3. Cotton textile
D. Osaka 4. Iron and steel

industry
Code:

A B C D A B C D
[a] 1 2 3 4 [b] 1 3 2 4
[c] 4 1 3 2 [d] 4 1 2 3

Sol. [D]
92. Consider the following statements-

1. Africa has the first place in the production
of gold, diamond, platinum in the world.

2. Europe-based Antwerp has the largest
diamond cutting industry in the world.

3. Liege city of Belgium is famous for gun-
pistol.
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4.

[a] 1, 2 4 [b] 2 3
[c] 2, 3 4 [d] 1, 2 3

Sol. [D]

93.

A. 1.
B. 2.
C. 3.
D. 4.

5.

A B C D A B C D

[a] 2 3 4 1 [b] 3 2 5 1
[c] 3 4 5 2 [d] 3 1 5 2

Sol. [D]

94.

[a] [b]

[c] [d]

Sol. [C]

1.
2.
3.
4.

95.

A. 1.
B. 2.
C. 3.
D. 4.

5.

A B C D A B C D

[a] 4 2 5 3 [b] 4 1 2 3
[c] 3 4 5 1 [d] 3 5 4 1

4. The Sheffield center of South Yorkshire is
famous for shipbuilding.

Select the correct statement(s) from the above-
[a] 1, 2 and 4 only [b] 2 and 3 only
[c] 2, 3 and 4 only [d] 1, 2 and 3 only

Sol. [D]
Steel Industry - The Sheffield center of South
Yorkshire is famous for knives and forks.

93. Match the following-
Center Industry
A. Pittsburgh 1. Aircraft manufacturing
B. Seattle 2. Synthetic rubber
C. Chicago 3. Iron steel
D. Akron 4. Hollywood

5. Meat Processing
Code:

A B C D A B C D

[a] 2 3 4 1 [b] 3 2 5 1

[c] 3 4 5 2 [d] 3 1 5 2

Sol. [D]
Los Angeles is famous for Hollywood.

94. Which of the following industrial regions is
not located in Japan?
[a] Nagoya [b] Kobe
[c] Chungking [d] Yawata

Sol. [C]
1. Nagoya - Toyota Region - Automobile
2. Kobe - Kyoto Region / Kinki Region - Cotton

Textile Industry
3. Yawata/Nagasaki/Kitakyushu region - Steel

Industry
4. Chungking- famous for steel industry in the

Yangtze Valley region of China.
95. Match the following pairs-

Industry Center
A. Information Technology 1. Recife
B. Sugar 2. Mendoza
C. Wine 3. Suriname
D. Bauxite 4. San Diego

5. Madeleine
Code:

A B C D A B C D

[a] 4 2 5 3 [b] 4 1 2 3

[c] 3 4 5 1 [d] 3 5 4 1
Sol. [B]
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96. Which of the following is miss matched?
Industry Industrial Region

[a] Coal - Quetta
[b] Silk city - Patterson
[c] Steel - Braddock
[d] Copper - Cerro-de-Pasco

Sol. [D]
Cerro de Pasco (Peru) – famous for silver.

97. In the map of France given below, the
location of the industrial regions has been
shown as (i), (ii), (iii) and (iv). Identify these
in the sequence given below in the map and
give answer.

[a] Lyons - Toulouse - Lille - Marseille

[b] Lille - Lyons - Toulouse - Marseille

[c] Lille - Toulouse - Lyons - Marseille

[d] Marseille - Toulouse - Lille - Lyons
Sol. [B]
98. Shifting agriculture is related to which of the

following agriculture?
[a] Food crop agriculture
[b] Plantation agriculture
[c] Mixed agriculture
[d] Subsistence agriculture

Sol. [D]

99. Match the different names of shifting
agriculture with their countries-
Agricultural Country
A. Konuko 1. Vietnam
B. Tumari 2. Sri Lanka
C. Ray 3. Thailand
D. Chenna 4. Indonesia

5. Venezuela
A B C D A B C D

[a] 3 4 5 1 [b] 3 5 1 4
[c] 5 3 1 4 [d] 5 3 1 2

Sol. [D]
Shifting agriculture in Indonesia/Malaysia is
called Ladang.

Sol. [B]
96.

[a]
[b]
[c]
[d]

Sol. [D]

97.
(i), (ii), (iii) (iv) 

[a]

[b]

[c]

[d]
Sol. [B]
98.

[a] [b]

[c] [d]

Sol. [D]

99.

A. 1.
B. 2.
C. 3.
D. 4.

5.
A B C D A B C D

[a] 3 4 5 1 [b] 3 5 1 4
[c] 5 3 1 4 [d] 5 3 1 2

Sol. [D]
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100.
1.

2.

3.

[a] 1 3 [b] 2 3
[c] [d] 1 2

Sol. [D]

101.

[a] [b]

[c] [d]

Sol. [C]

Vscy LVs'kujh

dkyhu

102.

[a] [b]

[c] [d]

Sol. [B]

100. Consider the following statements-
1. Shifting agriculture is done by primitive

tribal people. The forest vegetation areas
is burnt. This type of shifting agriculture
is also called slash and burn agriculture.

2. The said agriculture is done in Amazon
river basin, Congo basin and islands of
South East Asia.

3. The layer of burnt ash of vegetation acts
as a fertilizer. Hence it is beneficial for the
agricultural environment.

Code:
[a] 1 and 3 only [b] 2 and 3 only
[c] All of the above [d] 1 and 2 only

Sol. [D]
Due to burning of upper layer of soil and
repeated burning of vegetation, this
agriculture is not beneficial for the
environment.

101. Select the Venn diagram that represents the
correct relationship between the following
classes:
Table, Stationary, Carpet

[a] [b]

[c] [d]

Sol. [C]

 Table  Stationary 

Carpet 

102. Select the Venn diagram that represents the
correct relationship between the following
classes.
Doctor, Surgeon, Cardiologist

[a] [b]

[c] [d]

Sol. [B]

 Cardiologist  

Doctor  

Surgeon  
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(103–105)

90 80
62 56

103.
[a] 24 [b] 38
[c] 32 [d] 18

Sol. [B]

A B

A = 62, B = 56, A   B = 80

(A   B) + 80 = 62 + 56

(A   B) = 38

62 – 38 = 24

56 – 38 = 18
90 80

10

104.
[a] 18 [b] 28
[c] 38 [d] 48

Sol. [B]

= 
+ 

= 18 + 10 = 28
105.

[a] 10 [b] 28
[c] 16 [d] 14

Instruction (Question 103– 105) : Consider/study
the following information and answer the ques-
tions given below:

In a class of 90 students, 80 students like
Burger or Pizza, 62 like Burger and 56 like
pizza.

103. How many students like both burgar and
pizza?
[a] 24 [b] 38
[c] 32 [d] 18

Sol. [B]

Here let set A be burger and set B be pizza
Therefore A = 62, B = 56, A   B = 80
(A   B) + 80 = 62 + 56
(A   B) = 38
Thus no. of students who like only burger =
62 – 38 = 24
And no. of students who like only pizza = 56
– 38 = 18.
Also out of 90 since 80 like burger or pizza,
we have 10 such students who like none of
them.

104. How many students do not like burger?
[a] 18 [b] 28
[c] 38 [d] 48

Sol. [B]

Number of students who do not like Burger =
Number of students who like Pizza only + Num-
ber of students who dislike both Pizza and
Burger = 18 + 10= 28

105. How many student do not like both burger
and pizza?
[a] 10 [b] 28
[c] 16 [d] 14

Sol. [A]
106. Choose the correct figure that represents the

given relation:
Blue eyed, females, doctors.
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Sol. [A]

106.

[a] [b]

[c] [d]

Sol. [D]

107.

1

2 13

12

9

8

4
13

5

10

11

6

7

[a] 8 [b] 9
[c] 2 [d] 4

Sol. [A]

108.

9

17

1512

21
6

8

Cricket

Hockey
Tennis

[a] 17 [b] 32
[c] 15 [d] 27

Sol. [B]

17 + 15 = 32
109. (a), (b), (c) (d)

[a] [b]

[c] [d]

Sol. [D]

 

Blue Eyed Females 

Doctors  

107. In the following diagram, police officer
represents circle ,corrupt represents triangle,
poet represents square and married represents
rectangle

1

2 13

12

9

8

4
13

5

10

11

6

7

The area representing unmarried police officers
who are not corrupt but are poets is-
[a] 8 [b] 9
[c] 2 [d] 4

Sol. [A]
108. In the given figure, how many people like

cricket and tennis both?

9

17

1512

21
6

8

Cricket

Hockey
Tennis

[a] 17 [b] 32
[c] 15 [d] 27

Sol. [B]

17 + 15 = 32
109. Choose from the following diagrams (a), (b),

(c) and (d) the one that illustrates the rela-
tionship among three given classes:
North America, United States of America, New
York

(c)(a) (b) (d)
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(c)(a) (b) (d)

Sol. [A]

 

 

 

110.

[a] [b]

[c] [d]

Sol. [C]

'kjhj

dku eq¡g

111-113

2006 2011 A 

Production and Sales of Company A in last six year 
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Sol. [A]

North America  

USA 

New York  

110. Which one of the following diagrams
properly represents the relationship among
'Body', 'Ear', 'Mouth'?

[a] [b]

[c] [d]

Sol. [C]

Direction (Q. 111-113): Study the following in-
formation and answer the given questions:

The graph below shows the company from
2006 to 2011. Shows the production (in
tonnes) and sales (in tonnes) of

Production and Sales of Company A in last six year 

0

100

200

300

400

500

600

700

800

2006 2007 2008 2009 2010 2011

Production Sales

Pr
od

uc
tio

n 
an

d 
Sa

le
s 

(in
 T

on
ne

s)
 

The table given below shows the ratio of pro-
duction (in tonnes) of company A to produc-
tion (in tonnes) of company B and sales (in
tonnes) of company A to sales (in tonnes) of
company B-

Year Production 
(A : B) 

Sales (A : B) 

2006 5 : 4 2 : 3 
2007 8 : 7 11 : 12 
2008 3 : 4 9 : 14 
2009 11 : 12 4 : 5 
2010 14 : 13 10 : 9 
2011 13 : 14 1 : 1 
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 (A : B) (A : B) 
2006 5 : 4 2 : 3 
2007 8 : 7 11 : 12 
2008 3 : 4 9 : 14 
2009 11 : 12 4 : 5 
2010 14 : 13 10 : 9 
2011 13 : 14 1 : 1 

111. 2009 A 
2010 A 

[a] 18% [b] 23%
[c] 27% [d] 32%

Sol. [C]

2009 A = 550 
2010 A = 700 

% = % %
  
 

150 300
100 = = 27.2% 27%

550 11

112. 2006 2011 B 

[a] 574 [b] 649
[c] 675 [d] 593

Sol. [C]

2006 2011 B 

=

                   
              
      

4 7 4
750× 800× 600×

5 8 3

12 13 14
550× 700× 650×

11 14 13
= (600 + 700 + 800 + 600 + 650 + 700)
= 4050 

 = 4050/6 = 675 
113. A A 

[a] 81 : 64 [b] 64 : 55
[c] 71 : 81 [d] 81 : 55

Sol. [D]

(A ) : (A )
= (750 + 800 + 600 + 550 + 700 + 650) : (300 +
550 + 450 + 400 + 500 + 550)

=  
4050 81

81 : 55
2750 55

114-115

111. What is the approximate percentage increase in
the production of company A (in tonnes) in the
year 2010 from the production of company A (in
tonnes) in the year 2009?
[a] 18% [b] 23%
[c] 27% [d] 32%

Sol. [C]
Production of A in 2009 = 550 tonnes
Production of A in 2010 = 700 tonnes
Increase % =

% %
  
 

150 300
100 = = 27.2% 27%

550 11
112. What is the average production (in tonnes) of

company B from the year 2006 to the year 2011?
[a] 574 [b] 649
[c] 675 [d] 593

Sol. [C]
Total production of B from 2006 to 2011

=

                   
              
      

4 7 4
750× 800× 600×

5 8 3

12 13 14
550× 700× 650×

11 14 13
= (600 + 700 +800 + 600 + 650 + 700) tonnes
= 4050 tons
Average production = 4050/6 tons = 675
tons

113. What is the ratio of total production (in tonnes) of
company A to total sales (in tonnes) of company
A?
[a] 81 : 64 [b] 64 : 55
[c] 71 : 81 [d] 81 : 55

Sol. [D]
(Total production of A) : (Total sales of A)
= (750 + 800 + 600 + 550 + 700 + 650) : (300 +
550 + 450 + 400 + 500 + 550)

=  
4050 81

81 : 55
2750 55

Direction (Q. 114-115): The pie-graph given be-
low shows the expenditure of a state on various sports
during a particular year. Study the graph carefully and
answer the given questions.
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114.

[a] 27% [b] 35%
[c] 37.5% [d] 75%

Sol. [D]

100 

= 
63

100
360

 = 17.50

=
36

100
360

 = 10

% =  
17.5

100 %
10

  
 

= 175%

75% 

115.
2 

[a] 8 [b] 80 
[c] 12 [d] 160 

Sol. [B]

= 20000000

=
81

100
360

 = 22.5

= (22.5 + 17.5)% = 40%

= 
40

20000000
100

  
 

= 8000000

116-117

114. What is the percentage more spent on
Hockey than on Golf?
[a] 27% [b] 35%
[c] 37.5% [d] 75%

Sol. [D]

Let the total expenditure be Rs. 100, then

money spent on Hockey =
63

100
360

 = Rs.

17.50

And that on Golf =
36

100
360

 = Rs. 10

Required % = 
17.5

100 %
10

  
 

= 175%

Hence, 75% more was spent on Hockey then
on Golf.

115. If the total amount spent on sports during
the year was Rs.2 crore, then what was
the amount spent on cricket and hockey
together?
[a] Rs. 8 lakh [b] Rs. 80 lakh
[c] Rs. 12 lakh [d] Rs. 160 lakh

Sol. [B]

Total amount spent on games = Rs.
20000000   money spent on cricket

= 
81

100
360

 = 22.5

Amount spent on cricket and hockey
= (22.5 + 17.5)% = 40 %

= Rs. 
40

20000000
100

  
 

 = Rs. 8000000

Direction (Q. 116-117): Study the following
bar diagram carefully and answer the
questions given below. Export of pearls (Rs.
in crore)

116. The average export of pearls (in Rs. crore)
for the given period was

[a] 8.7 [b] 8.73

[c] 9.73 [d] 8.85
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116.

[a] 8.7 [b] 8.73
[c] 9.73 [d] 8.85

Sol. [B]

=  1
5.2 6.5 7.8 9.9 10.8 9 .5 11.4

7
       
 

= 
61.1

7
 
 
 

=  8.73 

117.

[a] 2002 [b] 2007
[c] 2005 [d] 2004

Sol. [D]

(6.5 – 5.2) 1.3
2002 100 % 100 %

5.2 5.2

13
100 % 25%

52

(7.8 – 6.5) 1.3
2003 100 % 100 %

6.5 6.5

13
100 % 20%

65

         
   

    
 

         
   

    
 

(9.9 – 7.8) 2.1
2004 100 % 100 %

7.8 7.8

21 350
100 % % 26.9%

78 13

(10.8 –9.9) 0.9
2005 100 % 100 %

9.9 9.9

9 100
100 % % 11.1%

99 9

         
   

     
 

         
   

     
 

Sol. [B]
Average exports during the period
= Rs.

             1
5.2 6.5 7.8 9.9 10.8 9.5 11.4

7
       
 
Crore

= Rs. 
61.1

7
 
 
 

 cr = Rs.8.73 cr

117. In which year did pearl export show
maximum percentage increase as compared
to the previous year?
[a] 2002 [b] 2007
[c] 2005 [d] 2004

Sol. [D]

(6.5 – 5.2) 1.3
2002 100 % 100 %

5.2 5.2

13
100 % 25%

52

(7.8 – 6.5) 1.3
2003 100 % 100 %

6.5 6.5

13
100 % 20%

65

         
   

    
 

         
   

    
 

(9.9 – 7.8) 2.1
2004 100 % 100 %

7.8 7.8

21 350
100 % % 26.9%

78 13

(10.8– 9.9) 0.9
2005 100 % 100 %

9.9 9.9

9 100
100 % % 11.1%

99 9

         
   

     
 

         
   

     
 

(11.4 – 9.5) 1.9
2007 100 % 100 %

9.5 9.5

19
100 % 20%

95

         
   

    
 

Clearly, the maximum increase was in 2004.
118. The percentage distribution of expenditure

incurred in publishing a book is given in
the following pie chart?
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(11.4 – 9.5) 1.9
2007 100 % 100 %

9.5 9.5

19
100 % 20%

95

         
   

    
 

2004 

118.

 

22950 

[a] 15,250 [b] 10,800
[c] 11,000 [d] 9,180

Sol. [D]

= 25%

  25% = 22950 

1% = 
22950

25

= 
22950

25
× 10 = 9180 

(119-120)

 
  

 

 360000 31200   

 320000 28000 16000  

   36000 336000 

  42000 30000 330000 

  40000 28000 362000 
 

119.

[a] 24% [b] 18%
[c] 22% [d] 32%

Sol. [C]

= 31200

= 40000

If the paper payment for a particular number
of books is Rs.22950. , then the expenditure
on transport is?
[a] 15,250 [b] 10,800
[c] 11,000 [d] 9,180

Sol. [D]

Paper = 25%

25% = Rs.22950

1%= 
22950

25

Expenditure on transport =
22950

25
 × 10 =

Rs.9180.
Direction (119-120): Study the table and
answer the given questions-

Month Gross 
revenue 

Amount 
allocated for 
commission 

Amount 
allocated for 

discounts and 
offers 

Net 
revenue 

March Rs. 360000 Rs. 31200 - - 
April Rs. 320000 Rs. 28000 Rs. 16000 - 
May - - Rs. 36000 Rs. 336000 
June - Rs.42000 Rs. 30000 Rs. 330000 
July - Rs.40000 Rs. 28000 Rs. 362000 

 119. The amount allocated for commission in
March is what percent less than the amount
allocated for commission in July?
[a] 24% [b] 18%
[c] 22% [d] 32%

Sol. [C]
Amount collected for commission in March =
31200
Amount collected for commission in July =
40000

required percentage = 
8800

100 22%
40000

 

120. What is the difference between the net
revenue in April and its gross revenue in
June?
[a] Rs. 132000 [b] Rs. 126000
[c] Rs. 118000 [d] Rs. 124000

Sol. [B]

Net revenue in April = 320000 – 44000 = Rs.
276000
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= 
8800

100 22%
40000

 

120.

[a] 132000 [b] 126000
[c] 118000 [d] 124000

Sol. [B]

= 320000 – 44000 = 276000

= 330000 + 72000 = 402000

= 402000 – 276000 = 126000
121. 2021-22 

(RGFDI)

[a] [b]
[c] [d]

Sol. [A]

122.

[a] (R.K.C.L.)
[b]
[c] (R.I.S.L)
[d]

Sol. [C]

2000
24 

123. 2022-23 

[a] 11.17 [b] 17.11
[c] 10.74 [d] 15

Sol. [C]

o"kZ 2022&23 GSVA o`f) nj 
lsok {ks= ¼izpfyr½  573277 17-11% 
lsok {ks= ¼fLFkj½ 320708 10-74% 
 124.

Gross revenue in June = 330000 + 72000 = Rs.
402000
Required difference = 402000 – 276000 = Rs.
126000

121. Where is the land allotted for the development of
Rajiv Gandhi Fintech Digital Institute (RGFDI)
announced in the State Budget 2021-22?
[a] Karwar Village [b] Nimbeda Village
[c] Dhankya Village [d] Kalwad Village

Sol. [A]
The land has been allotted by Jodhpur Develop-
ment Institute Authority in village Karwad for
Fintech Digital Institute with the objective of wider
use of emerging technologies in the financial sec-
tor and to develop Fintech products.

122. Which of the following organization has obtained
the license to work as a Certifying Authority for
'Raj e-Sign'?
[a] Rajasthan Knowledge Corporation Limited

(R.K.C.L.)
[b] E-Mitra
[c] Rajcomp Info Services Limited (R.I.S.L)
[d] E-Mitra Plus

Sol. [C]
Raj e-Sign ensures the authenticity of documents
and helps towards paperless office and public ser-
vice automation. Rajcomp Info Services Limited
(RISL) is licensed to operate as a Certification Au-
thority (CA) as per Section 24 of the IT Act 2000.

123. In the year 2022-23, what percent growth has been
registered in the service sector in the state at con-
stant prices?
[a] 11.17 [b] 17.11
[c] 10.74 [d] 15

Sol. [C]

 Year 2022&23 GSVA Growth Rate 
Service Sector-
Current Prices  

573277 17-11% 

Service Sector-
Constant Prices  

320708 10-74% 

 
124. Choose the incorrect statement regarding 'Jan

Aadhaar Yojana'-
[a] For the effective implementation of the ideol-

ogy of 'one number, one card and one identity',
this scheme has been launched from 18 Decem-
ber 2019.

[b] The benefits of all the public welfare schemes
being run by various departments of the state
are possible only through the Jan Aadhaar plat-
form.

[c] The Jan Aadhaar ID has an 11-digit family iden-
tification number and a 10-digit individual
identification number for each member includ-
ing the head.
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[a]
18

2019 
[b]

[c] 11 
10 

[d] 4 2021 
2021 

Sol. [C]
10 

11 

125.
(USP)

[a]
[b]
[c] [d]

Sol. [D]

(USP)

126.

[a] [b]
[c] [d]

Sol. [C]

127.

1. 2022 986.32 

2. 2023-24 1500 

3. 2021 

4.

[d] From August 4, 2021, the Rajasthan Jan
Aadhaar Authority Rules 2021 have also come
into force.

Sol. [C]
In Jan Aadhaar ID, 10 digit family identification
number and 11 digit individual identification num-
ber has been given to each member including the
head.

125. Which of the following is not a Unique Selling
Proposition (USP) in the tourism sector of
Rajasthan?
[a] Palace on Wheels Train Shahi Rail
[b] Forts, palaces and havelis
[c] Fairs and festivals
[d] Medical tourism

Sol. [D]
Special Attractions of Rajasthan Tourism Unique
Selling  Proposition (USP) Centers are Royal Train
(Palace-on-Wheels), Forts, Palaces and Havelis,
Fairs and Festivals, Handicrafts, Heritage Hotels,
Adventure Tourism, Rural , Eco- tourism, religious
tourism and temple architecture, classical music
and folk dance, etc., which attract tourists to the
state and generate employment and revenue for
the state.

126. The center for remote sensing studies related to
natural resources has been established at which
place in the state ?
[a] Jaipur [b] Mount Abu
[c] Jodhpur [d] Udaipur

Sol. [C]
State Remote Sensing Applications Center
(S.R.S.A.C), Jodhpur.

127. Consider the following statements related to tour-
ism sector in the state-

1. During the year 2022, a total of 986.32 lakh tour-
ists visited Rajasthan.

2. In the state budget 2023-24, tourism develop-
ment fund of 1500 crores has been announced.

3. Mukhya Mantri Paryatan Udhyog Sambal
Yojana is applicable from the year 2021.

4. Rajasthan Domestic Travel Mart has been or-
ganized in Jodhpur.

Which of the above is a correct statement?
[a] 1 only [b] 2 and 3 only
[c] 2 and 4 only [d] 1, 2 and 3 only

Sol. [D]

1. Till November 2022  -

Total Tourist & 986.32 Lakh 

983 Lakh Domestic  3 Lakh Foreigner  
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[a] 1 [b] 2 3
[c] 2 4 [d] 1, 2 3

Sol. [D]
1. 2022, 

 

dqy i;ZVd & 986.32 yk[k 

983 yk[k Lons'kh 3 yk[k fons'kh 

2. 22
2021

25 9% 
3.

128. NRR 

[a] 7 2022 [b] 7 2022
[c] 7 2021 [d] 7 2022

Sol. [B]
7 2022 NRR 

129.
[a] 6 10 
[b]
[c]
[d]

Sol. [D]

2022 
130. 2021-23

100% 
[a] [b]
[c] [d]

Sol. [D]
2021-22 

2022-23

131. 74 

[a] [b]
[c] [d]

Sol. [B]
74th 

132.
(WEF)

2. Mukhya Mantri Paryatan Udhyog Sambal
Yojana implemented from 22 September 2021
9% Loan subsidy on loans up to Rs.25 lakh

3. Rajasthan Domestic Travel Mart was orga-
nized in Jaipur.

128. When was the first NRR (Non Resident
Rajasthani) policy of the state released?
[a] 7th November 2022 [b] 7th October 2022
[c] 7th April 2021 [d] 7th June 2022

Sol. [B]
On October 7, 2022, the state's first NRR (Non Resi-
dent Rajasthani) policy has been issued.

129. What is "Mati Ro Sandesh"?
[a] Podcast for class 6 to 10 students
[b] Programs presented by folk artists
[c] Pamphlet published on Rajasthan Day
[d] Quarterly newsletter to inform the Non -resi-

dent Rajasthani's about the developmental
works of the state government

Sol. [D]
The latest edition of Rajasthan Foundation's news-
letter "Mati Ro Sandesh" has been published in
October, 2022.

130. Which of the following districts has not been se-
lected for 100% digitization between the year
2021-23?
[A] Sirohi [B] Dholpur
[c] Ajmer [d] Jaipur

Sol. [D]
Ajmer, Dholpur in the year 2021-22 and Sirohi,
Jaisalmer in the year 2022-23 have been selected
for 100% digitization.

131. The President of which country was the chief
guest on the occasion of 74th Republic Day of
India-
[a] Australia [b] Egypt
[c] France [d] Bangladesh

Sol. [B]
Egyptian President Abdel Fattah el-Sisi was made
the chief guest on the 74th Republic Day.

132. How many of the following reports are published
by the World Economic Forum (WEF)-
1. Global Risk Report
2. Global Competitiveness Report
3. Global Travel & Tourism Report
4. World Development Report
[a] only one [b] only two
[c] only three [d] all of the above

Sol. [C]
The World Development Report is published by
the World Bank.
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1.
2.
3.
4.
[a] [b]
[c] [d]

Sol. [C]

133.
1. 21 

2.

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [B]
•

21 
•

134.
1.

U-win App 
2.

[a] 1 [b] 2
[c] 1 2 [d] 1, 2

Sol. [D]
U-Win App 

135.
[a] [b]
[c] [d]

Sol. [C]

136. 2023 108 (ISC)

[a] [b]

133. Consider the following statements-
1. The islands of the Lakshadweep group were

named after 21 Param Vir Chakra winners.
2. The largest unnamed island of Andaman and

Nicobar, has been named after Major Somnath
Sharma, the country's first Paramveer Chakra
winner.

Which of the above statement(s) is/are correct-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [B]
• The islands of the Andaman and Nicobar  have

been named after 21 Param Vir Chakra win-
ners.

• The largest island of the Andaman and Nicobar
Islands was named after the first Param Vir
Chakra winner Major Somnath Sharma.

134. With reference to Vaccination, consider the fol-
lowing statements-
1. U-win App has been launched for digital

record of vaccination of women and children.
2. It has been started on an experimental basis in

two districts of every state and union territory
of the country.

Which of the above statement(s) is/are incorrect-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [D]
U-Win App has been started on an experimental
basis in two districts of every state and union terri-
tory for vaccination records of women and chil-
dren.

135. “Har Ghar Panchayat” program has been started
from which district?
[a] Jaipur [b] Dausa
[c] Alwar [d] Ajmer

Sol. [C]
“Har Ghar Panchayat” program has been started
from Alwar (Poonkhar village).

136. In January 2023 108th Indian Science Congress
(ISC) was held at which place?
[a] Udaipur [b] Bhopal
[c] Patna [d] Nagpur

Sol. [D],
108th Indian Science Congress was organized at
Nagpur (Maharashtra).

137. Which country won the Women's Under-19 T-20
World Cup?
[a] India [b] Sri Lanka
[c] Australia [d] England

Sol. [A]
India defeated England to win the Women's U-19
T-20 World Cup.
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[c] [d]
Sol. [D]

108 

137. 19 T-20 
[a] [b]
[c] [d]

Sol. [A]
U-19 T-20 

138.
[a] [b]
[c] [d]

Sol. [D]

139.

1. NCERT

2. NGO 

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [D]
•

NGO 
• NCERT 

140.

[a] [b]
[c] [d]

Sol. [A]

141.

[a] [b]
[c] [d]

Sol. [A]

142.

138. Which is the first constitution literate district of
India-
[a] Kupwara [b] Coimbatore
[c] Kota [d] Kollam

Sol. [D]
Kollam district of Kerala became the first constitu-
tion literate district of India.

139. With reference to the survey on education, con-
sider the following statements-
1. Annual Status of Education Report is issued

by NCERT.
2. The National Assessment Regulator 'Parakh'

is issued by NGO Pratham.
Which of the above statement(s) is/are correct-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [D]
• The Annual States of Education Report is pub-

lished by NGO Pratham.
• National Assessment Regulator “Parakh”

brought out by NCERT.
140. Hakku certificates were recently distributed to

which tribe?
[a] Lambani [b] Garasia
[c] Sahariya [d] Bhil

Sol. [A]
The Prime Minister has distributed 'Hakku' certifi-
cates for the ownership of lands to the Lambani
tribe of North Karnataka.

141. The country's first coal gasification based fertil-
izer plant has been set up at which place?
[a] Talchar (Odisha)
[b] Indore (Madhya Pradesh)
[c] Pune (Maharashtra)
[d] Varanasi (Uttar Pradesh)

Sol. [A]
A fertilizer plant based on coal gasification tech-
nology was set up at Talchar in Odisha.

142. With reference to the “right to sight” policy, con-
sider the following statements-
1. Rajasthan is the first state to bring a policy on

"right to sight".
2. Its aim is to eliminate blindness completely

from the sight.
Choose the correct statement from the above-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [A]
• Rajasthan is the first state in the country to

implement the Right to Sight policy.
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1.

2.

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [A]
•

• 11% 
0.3% 

•

143.

[a] 1 [b] 5 
[c] 10 [d] 5 

Sol. [D]
• 5

• 2.40 3 
• 60 
• 2 

144.  

[a]
[b]
[c]
[d]

Sol. [D]
 

145. 83 

1.
2. 5 

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [A]
83 

23 1957, 44 1978, 76 2011 83 2023
146.

• In this policy, the rate of prevalence of blind-
ness has to be reduced from 11% to 0.3%.

• It also includes making people aware about eye
donation.

143. How much Rajasthan government will invest for
a better idea in the start-up policy of the state-
[a] 1 lakh [b] 5 lakh
[c] 10 lakh [d] 5 crore

Sol. [D]
• Rajasthan government will invest 5 crores for

better start-up ideas.
• 2.40 to 3 lakh grant for women at pre-seed stage.
• 60 lakh grant at Viability Grand Seed stage.
• 2 crore scale-up-fund at the growth stage.

144. In which districts Agro Food Parks are being es-
tablished in Rajasthan-
[a] Kota, Ajmer, Jodhpur, Ganganagar
[b] Alwar, Kota, Jodhpur, Ajmer
[c] Jaipur, Udaipur, Kota, Alwar
[d] Jodhpur, Ganganagar, Alwar, Kota

Sol. [D]
Agro Food Parks are being established in Jodhpur,
Alwar, Ganganagar, Kota.

145. With reference to the 83rd All India Presiding
Officers Conference, consider the following state-
ments-
1. It was organized in Jaipur.
2. It was the 5th edition to be held in Rajasthan.
Which of the above is correct-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [A]
The 83rd All India Presiding Officers Conference
was held in Jaipur. It was the fourth edition held
in Rajasthan. (23rd-1957, 44th-1978, 76th-2011 and
83rd-2023)

146. Match the following pairs-
Campaign Objective

A. Pukar Abhiyan 1.  Preparing girls for
competitive exams

B. Prakash Abhiyan 2. For electricity con
nection in schools

C. Ujaas Abhiyan 3. Better nutrition for
pregnant women.

D. Bhavishya ki Udaan 4. Enhancing enroll
-ment of children

A B C D A B C D
[a] 2 3 1 4 [b] 3 4 2 1
[c] 3 2 4 1 [d] 2 3 4 1

Sol. [B]
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A. 1.

B. 2.
C. 3.

D. 4.
A B C D A B C D

[a] 2 3 1 4 [b] 3 4 2 1
[c] 3 2 4 1 [d] 2 3 4 1

Sol. [B]

55000 

147.

[a] [b]
[c] [d]

Sol. [B]

148.

[a]
[b]
[c]
[d]

Sol. [D]

 

149.
[a]
[b]
[c]
[d]

Sol. [C]
•

Pukar Abhiyan  - Better nutrition for
(Barmer) pregnant women.
Prakash Abhiyan  - To increase en
(Nagaur) rollment of children.
Ujaas Abhiyan (Alwar) - Electricity connec

tion in government
school

Bhavishya ki Udaan  -
(Sawai Madhopur) Preparing 55000 girls

for com
petitive exams.

147. The first woman military officer to be posted at
Siachen is-
[a] Captain Sunita Chowdhary
[b] Captain Shiva Chauhan
[c] Captain Smriti Charan
[d] Captain Shweta Kumari

Sol. [B]
Captain Shiva Chauhan is the first woman officer
of the Indian Army to serve in Siachen.

148. Justice Ram Singh Jhala has been appointed as a
member to which body?
[a] Union Public Service Commission
[b] National Human Rights Commission
[c] State Information Commission
[d] State Human Rights Commission

Sol. [D]
The State Human Rights Commission is a three
member body including a Chairperson and two
Members.
Chairman - Gopalkrishna Vyas
Member - Mahesh Goyal, Ramsingh Jhala

149. What was the objective of Geotail mission of
NASA-JAXA-
[a] Search for new habitable houses.
[b] To collect information about the ozone layer.
[c] To gather information about the Earth's mag-

netosphere.
[d] Discovery of oxygen on Mars.

Sol. [C]
• NASA-JAXA's Geotail mission has ended. Its

objective was to investigate the protective en-
velope of the Earth's magnetosphere.

• It failed to achieve its objective as its only data
recorder failed.

150. Where was the meeting of the Employment Work-
ing Group of G-20 held?
[a] Kota [b] Jaipur
[c] Udaipur [d] Jodhpur

Sol. [D]
A meeting of the G-20 Employment working Group
was held in Jodhpur.
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•

150. G-20 

[a] [b]
[c] [d]

Sol. [D]
G-20 

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
A B B C B D A B A A A C B D D
16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
D A A C C D C D D D D B D A A
31 32 33 34 35 36 37 38 39 40 41 42 43 44 45
C C D A D C A C A D A C D B B
46 47 48 49 50 51 52 53 54 55 56 57 58 59 60
C C C B D D C D B D C C * D B
61 62 63 64 65 66 67 68 69 70 71 72 73 74 75
C D B B B C A B D C B B C C C
76 77 78 79 80 81 82 83 84 85 86 87 88 89 90
C C B C D D D C D D A C D B C
91 92 93 94 95 96 97 98 99 100 101 102 103 104 105
D D D C B D B D D D C B B B A

106 107 108 109 110 111 112 113 114 115 116 117 118 119 120
D A B A C C C D D B B D D C B

121 122 123 124 125 126 127 128 129 130 131 132 133 134 135
A C C C D C D B D D B C B D C

136 137 138 139 140 141 142 143 144 145 146 147 148 149 150
D A D D A A A D D A B B D C D
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